GCSE Maths Revision | Statistics

Skill
Group A - mode

Write down the mode of each list of numbers:

1)3 6788
43678809

7)23 67889

10022367889

2)25578
5)2 55789

82556789

11)2 5567789
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3)11247
6)112457

9)1124457

12)1124457 10

Group B - median

Find the median of each list of numbers:

1)3 6788
4367889

7)23678809

10022367889

2)25578
5)255789
8)2556789

11)2 55677809

3) 11247
6)112457

9)1124457

12) 1124457 10

Group C - mean

Work out the mean of each list of numbers.

Give your answer to 1 decimal place where needed:

1)3 6788
4367889

7)23678809

10022367889

2)25578
5)2557809
82556789

11)2 5567789

3)11247
6)112457

9)1124457

12)1124457 10
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Group D - range

Work out the range of each list of numbers:

1)3 6788 2025578
4367889 5)2 55789
7)23 67889 82556789

10022367889 11)2 5567789

3)11247
6)112457

991124457

12) 1124457 10
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Applied

1) (a) The heights of some children (to the nearest cm) are shown below.
113 111 123 121 119 113 117

Find the mode, median and mean.
(Give the mean to 1 dp).

(b) Find the range.
2) (a) The weights of 11 puppies (to the nearest g) are shown below.
418 406 372 428 320 302 325 395 365 325 327

Find the mode, median and mean.
(Give the mean to 1 dp).

(b) Find the range.

3) (@  The range of a set of data is 8.
The smallest value is 5.
What is the largest value?

(b) The range of a set of data is 12.
The largest value is 27.
What is the smallest value?

4) () The mean of 4 numbers is 11.
Here are 3 of the numbers
7 8 16

What is the 4th number?

(b) The mean of 6 numbers is 15.
Here are 5 of the numbers
8 10 11 21 26

What is the 6th number?
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1) Here is a list of numbers 19 13 17 18 17

(a)  Write down the mode.

@
(b) Work out therange.
()
(¢c) Work outthemean.
)
(5 marks)
2) Hereisalistofnumbers 1.9 12 1.3 1.5 1.4 1.6 1.3

(a) Write downthe mode.
@
(b) Work out therange.
(2
(¢c) Work out the median.
()
(d) Workoutthe mean.
()
Give your answer (7 marks)

correct to 3 significant

figures.
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3) Seven people entered a
dancing competition.

Here are the points that

each of the first 6 people 12 16 19 15 9 8§
scored.

(a) Work out the rangefor
these 6 people. 2

(b) Work out the medianfor
these 6 people. )

The mean of the 7
people is 14.

(¢) Workouthowmany

points the seventh 2)
person scored. (6 marks)
4) There are four cards with

some numbers on them.

The mode of the cards is 6.
The mean of the cards is 7.
The range of the cards is 8.

Find the four numbers on e eeey tteeey tneeey vennnny
the cards.

(3 marks)
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Question Answer
Skill Questions
Group A Write down the mode of each list of
numbers:
1)3 6788 1)8
225578 2)5
3)11247 3)1
4)3 67 889 4) 8
5)255789 55
6)112457 6) 1
7)23 67889 7) 8
825567829 8)5
9)1124457 9)1and 4
10)2 2367889 10) 2 and 8
11)2 55677829 11) 5and 7
12)1 124457 10 12) 1and 4
Group B Find the median of each list of numbers:
1)3 6788 1) 7
2225578 2)5
3)11247 3)2
4)3 67 889 4) 7.5
5)255789 5)6
6)112457 6) 3
7)23 67889 7)7
825567829 8) 6
9)1124457 9) 4
10)2 2367889 10) 6.5
11)2 55677829 11) 6.5
12)1 124457 10 12) 4
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Group C Work out the mean of each list of numbers.
Give your answer to 2 decimal places
where needed:
1)3 6788 1)6.4
2)25578 2)5.4
3)11247 3)3
43 67889 4) 6.83 (to 2 dp)
5255789 5) 6
6)112457 6) 3.33 (to 2 dp)
7)23 67889 7) 6.14 (to 2 dp)
82556789 8) 6
9)1124457 9) 3.43 (to 2 dp)
10022367889 10) 5.63 (to 2 dp)
11)2 5567789 11) 6.13 (to 2 dp)
12) 1124457 10 12) 4.25

Group D Work out the range:
1)3 6788 1)5
2)25578 2)6
3)11247 3)6
4367889 4) 6
5)2 55789 5) 7
6)112457 6) 6
7)2367889 7)7
82556789 8) 7
9)1124457 9) 6
10022367889 10) 7
11)2 5567789 11) 7
12)1 124457 10 12) 9
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Question

Answer

Applied Questions

1)

a) The heights of some children (to the nearest
cm) are shown below.
113 111 123 121 119 113 117
Find the mode, median and mean. (Give the
mean to 1 dp).

b) Find the range.

b)

Mode =113 cm
Median=117 cm
Mean =116.7 cm (to 1 dp)

Range =12 cm

2)

a) The weights of 11 puppies (to the nearest g)
are shown below.
418 406 372 428 320 302 325 395
365 325 327
Find the mode, median and mean.
(Give the mean to 1 dp).

b) Find the range.

b)

Mode =325 ¢
Median = 365 g
Mean = 362.1 g (to 1 dp)

Range=126¢

3)

a) The range of a set of data is 8.
The smallest value is 5.
What is the largest value?

b) The range of a set of data is 12.
The largest value is 27.
What is the smallest value?

b)

4)

a) The mean of 4 numbersis 11.
Here are 3 of the numbers
7 8 16

What is the 4th number?

b) The mean of 6 numbers is 15.
Here are 5 of the numbers
8 10 11 21 26

What is the 6th number?

b)
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Question Answer
Exam Questions
1) |(a) | Here is a list of numbers (a) @)
19 13 17 18 17 17 (1)
Write down the mode.
(b) | Work out the range. ®) o — 13 1) 2)
= 6(1)
() | Work out the mean. ©Ol19+13+17+18+17) 50 | P
= 16.8(1)
2) [(a) | Here is a list of numbers (a) @)
1912 13 15 14 1.6 13| |13
Write down the mode.
(b) | Work out the range. (b) ?2)
1.9 -1.2(1)
=0.7(1)
(€) | Work out the median. 11213131415 1.6 19 (1) 2)
1.4 (1)
(d) | Work out the mean. (d) ()
1.2+13+13+1.4+1.5+ 1.6
: 1)
Give your answer correct to 3 o _
significant figures. = 1.457..= 1.46 (to 3sf) (1)
2) |(a) | Seven people entered a dancing (a) )
competition.
Here are the points that each of the 19 — 8(1)
first 6 people scored. =11(@1)
12 16 19 15 9 8
Work out the range for these 6
people.




(b) | Work out the median for these 6 (b)[8 9 12 15 16 19 ?2)

people. 12+15 1)
= 13.5()
(¢) | The mean of the 7 people is 14. ©|(7x14) — (12 + 16 + 19 + 15 + 9( (2)
Work out how many points the a1
seventh person scored.
=19()
3) There are four cards with some A3)

numbers on them.

Two cards are 6 and 6 (1)

7%x4—(6+6)=16

The mode of the cards is 6. The second 2 cards must total 16 (1)

The mean of the cards i1s 7.
The range of the cards is 8.
Find the four numbers on the cards.

The last two cards are 4 and 12 (1)
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